Part I: Give the name of the angle pair and their relationship (congruent or supplementary) in each

diagram. Then find the value of the ? assuming that lines # and v are parallel.
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Part II: Find the value of x that makes lines » and v parallel.

9. The angles in the ,diagram are a/ l t_ \ n t; angles and they are
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—_— (choose congruenj or supplementary).
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11. The angles in the ¢ragrai are V4 Zt {t 4 % t angles and they are
—
— (choose congruent or supplementary).
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10. The angles in thedjagram are C OW-Z .§P angles and they are
e (choose congruent or suppleme tal'y).

LX—F = 10X+l O
2X = (10X (Y

12. The angles in the diagram are 6 4{,’ I angles and they are
(choose congruent orﬁplementary).
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Use the diagram below for questions 1 —24.
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. alternate mterlpr 18. 72° Al
. alternate exterior
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14. jllk
15. jllk
16. il k
. 1&5,7&3,2&6,8&4 Identify all pairs of angles of the given type 30. 6 g;r:gcte the statement using the diagram
. 4&5,3&6 using the diagram below.
.3&5,4&6 31. 4
. 1&8,2&7 . —-75,%0 - 326
1&7,2&8
) 3\q - 33. 1
{ e ©
34. 7 30. «£2and ____are corresponding angles
31. Z5and___are alternate interior angles
32. Z4and are same-side interior angles
33. Z8and___are alternate exterior angles

34. Z1and are same-side exterior angles



35; 1

36. 1=130°; 2 =50°
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36. Find m/1 and m/£2 . Justify your answer.
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38. 1|| m because SSI angles are supplementary
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39. BC || AD because SSI angles are supplementary

Which lines or segments are parallel? Justify
your answer.

39.

960 2 8 40 35. Find m/1 and m/2 . Justify your answer.

37. Find the value of x that makes p||q if

37_ X = 40 mZ1=3x and m£6=120°
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Directions: For #1-8, use the diagram to the right.

1. I can identify pairs of alternate interior angles. Circle all that apply.

A)land2 d6
€ /4
C)2and6 D)4and6
5 /6

E) 3and5 d5 ne€ /a

2. I can identify pairs of sa ide interj qnsecutive) angles. Circle all that apply.
A)land2 B)3and6 and 5 and6 E)7and 3 F)land$5

3. I can identify pairs of cop
A)land2 B)3and6

gn identify pairs of vgft
w d4 B)3and6 A
fTsan 1den Pairs of c t angles. Circle all th: y.
and4 and6 d3 D)4and6 d 3 and 5
6. I can identify pairs of supplementary argle3\ Circle all that apply.
A)land4 B)3and6 C)2and3 and6 E)7and3 F)land 5
7. 1 can identify pairs of al exterior angles. Cir at apply.
A)land4 B)3and6 and8 D)4and6 and2 F)land$5

. I\can identify pairs of sapfe-sifle (consecutive) exterior angles. Circle all that apply.
A)Jand7 B)3and6 d8 D)4and6 E)7and3 F)land5

B ndmg angles Circle a] apply.
and6 D)4 and 6 d 3 F)4and 5

ngles. Circle all that apply.
d3 D)4and6 E)7and3 F)land5




I can complete a two-column proof of parallel lines.

For #10 and #11 use the diagram to the right.
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10. Given: m|n  Prove: /6=./3

Statements Reasons
1) m"n 1) Given
2) £2= /6 Cowaﬁv
3) £2=/3 3)
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9. In the diagram above, m | n.
In the first row determine whether each pair of angles is supplementary or congruent.
In the 2" row, identify the angle pairs as one of the f g: Alter ior, Alt Exterior,
Vertical, Linear Pair, Corresponding, or Consecutive Interior.
Pair 1 and 2 3 and6 2and 6 4 and 6 nd 6 1and 8
Supplementary 6 \q —. )L j_ (\)
h . —
or Congruent - e / /
<9 { 0 —
What type of O{ J
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11. Given: m|n Prove: m/3+m/8=180°
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Statement Reason

1) m||n 1)

GV

2) m£3=mZ6

ot G

3) m Z— b + m Ag = \@ 3) Definition of Linear Pair

4) mZ3+m£8=180°
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In the parallelogram, what is the measure of

-
/A

=mMX+b

2. Write the slope -intercept foxm of the equatlon of tlwn line. 9_ __ __9_

F=+2>"

= (-3)tb
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ept form of the equation of the given line. m —
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6. From the picture to the right, Kim thinks that line » might be parallel to line 5.

What strategy could she use to test this conjecture?
a.) Measure angles £2 and 24 to see if they are E

Measure angles £2 and £5 to see if they are
easure angles 21 and £7 to see if they are E

"Measure angles £2 and £3 to see if they are

7. What is the equation of the line that is parallel to the given line

goes through the point (-2_,2:? _( -
=5 (71
= ( +b
n="0

11. GIVEN:n|m. £L1= /2
PROVE:p | r

Statements Reasons

nllm &7”/[/”,

123 Al (NT
Ll= 22 G’llVL(f) \
L2=/3 /YMY\S/\’ =
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1 a)B is parallel to TQ

d) |AT is parallel toBQ|

b) | 4B is perpendicular to BQ
¢)|4B is perpendicular to A

8. Based on the information in the picture, which statement below is a valid conclusion?

9. Find E &ea-s(i:ei)f 8 gl#
20=X

12.

Given: MWYZ = 55" mYWX = (30x + s:\
Prove: x = 4 e Y .
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